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Below are some problems with their answers.  Punch the 
buttons on your calculator until you get the right answers.  It 
may be helpful to work with other students who have the same 

calculator. 
  

Problem Answer  
Non-

Rounded  

Answer 
Rounded to 

2 digits 

14 + 7 + (3 x 7) = 42 42 

11 x (6 + 5 + 23) = 374 370 

 258 18  19.5448 20 

  3(11 [3 0.22])  1585.2 1600 

  
 3

15 1 1
22 100 2.1 10  3.24675 3.2 

  21 6.5 450
15  63.52987 64 


 2

68
5.7 3.5  3.7883 3.8 




 

3

2 6

6.2 10
(4.6 10 )(7.8 10 )  

1.727982 
x 10-12 1.7x10-12 

 


